SEENBRE T RS HFER R H AR

BESIREEEPREKBAEE (1F) (C
DWCIEHITEREE U TCHIAF

= B v
LA f——J
EBA2R T Sl | j

T ) @1

o e
'l_aE*!—**_ﬁ%‘

ZfE (2F)
1,019.60n
(567.56m)

’ 329.60m \‘ I‘ BEBE 7960
(161.25m)

j&ﬁiﬁié 7425/ I = =
302928
]' | I HHE
L —— ‘
L et ,5
o |

________ | TTTIB I!,T*’

HE(F) L, z7 ZG 2512412 ZZIZIfzo”gE’

406.25m

B | T mman
f ,’ ________ . _4-_' 17.39n -

i N SR, =S e s ,
2 P

$F%H$%tbt@mﬂ%¢ N . J
(Ek31F12AFT (FE) )

=
e

/ Wl itha% OO &R
EEEEBOEEEFEOHH)

\

XEEF AR TG FIAIC
DLW CIEEEBEE LHELET

/
/

X oo EMIEHAT EEL



